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Section – A (Languages) 

1- ^Ír&Írq* 'kCn&;qXe esa D;k vFkZ Hksn gS\ 
A) dBksj&ekSle   B)  feF;k&ekSle   C)  vlR;&ekSle  D)  lR;&ekSle 

2- ^lHkk* 'kCn dk iz;ksx fdl laKk ds vUrxZr vkrk gS\ 
 A)  O;fDrokpd  B)  tkfrokpd   C)  Hkkookpd   D) nzO;okpd 
3- laKk dh O;kfIr fdlls e;kZfnr gksrh gS\ 
 A)  loZuke  B)  fØ;k   C)  fo'ks"k.k   D)  lekl 
4- fuEufyf[kr esa ls dkSulk 'kCn L=khfyax gS\ 
 A)  diM+k    B)  jkr    C)  xkuk    D)  us=k 
5- fuEufyf[kr esa ls dkSulk 'kCn iqfYyax gS\ 
 A)  lk¡dy  B)  lHkk    C)  O;k[;ku   D)  nf{k.kk 
6- iqfYyax&L=khfyax ds ;qXe esa ls dkSulk ;qXe lgh ugha gS\ 
 A)  ckyd&ckfydk B)  fegrj&fegrjh   C)  xw¡xk& xw¡xh    D)  uj&ukjh 
7- dkSulk 'kCn lnSo ,dopu esa iz;ksx gksrk gS\ 
 A)  /u   B)  lksuk     C)  ek=k ^A*   D)  ‘A’  o ^B’ nksukas 
8- laKk ds fdl :Ik ls fdlh  dks iqdkjus dk cks/ gksrk gS\ 
 A)  laca/&dkjd  B)  laiznku&dkjd       C)  lacks/u&dkjd    D)  viknku&dkjd 

9- lfU/ fdrus izdkj dh gksrh gS\ 
A) nks     B)   rhu    C)  pkj     D)  ik¡p 

10- v'kq¼ orZuh fodYi dkSu lk gS\ 
 A)  mTtoy  B)  laU;klh     C)  Lo;aoj     D)  lTtu 

11- dkSulk 'kCn ^vkdk'k* dk Ik;kZ;okph ugha gS\ 
 A)  xxu  B)  uHk    C)  vofu   D)  vEcj 
12- ^fof/* dk lgh foykse D;k gS\ 
 A)  fu"ks/  B)  dkuwu  C)  deZ    D)  ukfLrd 

13- ^T;s"B* dk foykse D;k gS\ 
 A) dfu"B  B)  voj  C)  vxzt   D)  izoj 

14- lgh lfU/&foPNsn dk p;u dhft,& 
 A)  egk&Ån;  B)  egk + mn;  C)  egks + n;   D)  egk + vksn;  

15- fuEufyf[kr esa ls  v'kq¼ lfU/ dk p;u djsa& 
 A)  jktu~ + vkKk =  jktkKk    B)  fo + Lej.k = folej.k  

C)  /fuu~ + Ro = /fuRo     D)  fu% + py  = fu'py 

16- ^dye rksM+ nsuk* eqgkojs dk lgh vFkZ gS& 
 A)  fy[kuk&i<+uk R;kx nsuk       B)  vR;Ur Øksf/r gksuk  

C)  vR;Ur ekfeZd o izHkko'kkyh jpuk djuk  D)  fy[kus ls ?k.̀kk djuk 
17- ^uhe gdhe [krjs tku* dgkor  dk lgh vFkZ gS& 
 A)  v/dpjk Kku uqdlku nsrk gS    B)  tM+h cwVh ls bykt djuk 
 C)  uhe dk mi;ksx lHkh gdhe djrs gSa   D)  gdhe ls mipkj  djokuk 
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18- vko';drk ls vf/d /u&lEifÙk ,d=k u djuk & okD;ka'k ds fy, ,d 'kCn fy[ksa&  
 A)  d`i.krk  B)  vifjxzg   C)  lnkpkj  D)  vLrs;  

19- ^pkdw* 'kCn dkSu lh Hkk"kk ls fgUnh esa vk;k gS\ 
 A)  vjch  B)  rqdhZ   C)  Qkjlh  D)  ikspqZxht 

20- vlaxr okD; NkafV, % 
 A)  ftl lekl esa igyk in izk;% iz/ku gksrk gS mls vO;;hHkko lekl dgrs gSa A    

B)  ftl lekl esa nwljk in izk;% iz/ku gksrk gS mls rRiq#"k lekl dgrs gSa A   
C)  ftlesa dksbZ Hkh in iz/ku ugha gksrk mls }U} lekl dgrs gSaA     
D)  ftl leLr in esa dksbZ in iz/ku ugha gksrk rFkk nksuksa feydkj fdlh rhljs in dh vksj ladsr djrs gSa mls  
    cgqczhfg lekl dgrs gSa A 
 

Directions Qs. 21-24:   Choose the opposite of the given word out of the four options:- 
21.  Jejune  

A) Sophisticated  B) Arrogant    C) Delightful   D) Indifferent 
22.  Jeopardy  

A)  Validity   B) Safety    C) Piety   D)Tactfulness 
23.  Obfuscate 

A) Complicate  B) Eclipse    C) Clarify   D) Anticipate 
24.  Inveigh 

A) Liberate   B) Suggest    C) Equivocate  D) Support 
 

Directions Qs.25-28: Choose the correct preposition, out of the four options, to be filled in  the  blanks:-  
25   Shyam  is  ignorant ____ his mistake. 

A) of     B) to     C) for    D) at 
26.  His speech was appropriate ___ the occasion. 

A) upon   B) to     C) about   D) for 
27.  Kalim’s behavior is subversive __ discipline. 

A) with   B) about    C) of    D) for 
28.  Radhika’s aptitude__ business cannot be doubted. 

A) to    B) about    C) at    D) for 
 
Directions Qs.29-32: In these questions, four alternatives are given for the italicized  idioms. Choose the 
alternative which best expresses the meaning of the underlined idiom:- 
29.  A fly on the wheel  

A) a person who overestimates her/his importance  B) a person who cautions  the people  
C) a person who is hostile to all    D)  a person who entertains others  

30.  Fly off the handle 
A) attack someone’s enemies    B) lose one’s temper suddenly 
C) make one’s escape     D) run away from the difficult situation 

31.  Keep the wolf off the door 
A)  keep her secrets intact     B) keep protesting against the times  
C) keep off starvation      D) keep working with utmost speed  

32.  To be under the harrow 
A) to work hard  B)  to be awarded for honesty  C) to be in good health    D) to be in distress 
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Directions Qs.33-36: Choose the correct synonyms of the following words out of the four given options: 
33.  Diaphanous 

A) silken   B) tired    C) kind   D) thick 
34. Expostulate 

A) infer   B) disagree    C) remit   D) simmer 
35.  Improvised 

A) imprudent   B) incautious    C) unstudied   D) oblivious 
36. Maverick 

A) materialist   B) spiritualist    C) selfish   D) nonconformist 
 

Directions Qs.37-40:Choose the correct form of the following words as the given part of speech out of 
the four options: 
37.  Above as noun: 

A) Our blessings come from above   B) The heavens are above 
C) The moral law is above the civil   D) Analyse the above sentence  

38.  Down as noun: 
A) Down went the “Titanic”    B) Shyam has seen the ups and downs of life 
C) The porter was killed by the down train  D) The engine came rushing down the hill  

39.  But as adverb: 
A) None but the brave deserve the honour  B) We tried hard, but did not succeed 
C) It is but right to admit our faults   D) There is no one but likes him  

40. After as adjective : 
A) They arrived soon after    B) He takes after his father 
C)We went away after they had left   D) After ages shall sing his glory 

 
Section – B  

41.  Superconductivity is a material property associated with: 
A) cooling a substance without a phase change B) frictionless liquid flow  
C) a loss of thermal resistance   D) a loss of electrical resistance 

42. A type of plastic that is biodegradable and has been in the news lately. The ingredient that makes 
it biodegradable is : 

 A) vegetable oil  B) petroleum  C) corn starch  D) leather 
43. How many Dynes are there in one gram weight? 

A) 900    B) 375   C) 981   D) 250 
44. If the distance between the earth and the sun were twice what it is now, the gravitational force 

exerted on the earth by the sun would be: 
A) twice as large as now    B) four times as large as it is now  
C) half of what it is now     D) one-fourth of what it is now 

45. Who was the first Indian to be selected to the British Parliament? 
A) Dadabhai Naoroji  B) G.K. Gokhale C) Bipin Chandra Pal D) Lala Lajpat Rai 

46. Which of the following Rajput dynasties  did not surrender to Akbar? 
A) Parmar   B) Pratihara  C) Rathor  D) Sisodiya 

47. Which of the following is not a classical language of India ? 
A) Sanskrit   B) Telugu  C) Hindi  D) Malayalam 
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48. The scientific study of ageing is known as : 
A) Etiology   B) Gerontology  C) Osteology  D) Teratology 

49. Which Indian artist decorated the handwritten copy of the Constitution? 
A) Nandalal Bose B) Mihir Sen           C) S. N. Banerji         D) Mukesh Bhandopadhyaya 

50. Preamble of the Indian Constitution has been amended 
A) Once   B) Twice  C) Thrice  D) Never 

51. Which of these are nicknamed ‘Bretton Woods Twins’? 
1.  IDA 2. IMF  3. IBRD  4.WTO 
A)  1 & 4   B) 3 & 4  C) 2 & 4  D) 2 & 3 

52. Section -498A of Indian Penal Code is a popular section. It deals with: 
A) Property rights to women    B) Reservations for women  
C)  Harassment for dowry    D) Kidnap and rape  

53. The United Nations climate change conference COP19 or CMP9 was held  in November 2013 at: 
A) Paris   B) Warsaw  C) Montreal  D) Kyoto 

54. The number of approved share markets in India is : 
A) 19    B) 20   C) 23   D) 24 

55. Which of the following state has been brought into the railway network for the first time? 
A) Manipur   B) Assam  C) Tripura  D) Arunachal Pradesh 

56. Who among the following has recently been selected for the coveted Indira Gandhi Prize for Peace 
Disarmament  and Development for 2013 ? 
A) Ila Bhatt   B) Medha Patkar C) Angela Merkel D) Chandi Prasad Bhatt 

57. Victoria Azarenka, who won the Australian Open Tennis women’s singles title 2012 is from: 
A)  USA   B) Belarus  C) Germany  D) Slovakia 

58. The National Sports Day is observed on : 
A) August 29th   B) July 29th   C) September 29th  D) August 20th 

59. Sonal Mansingh is famous for which form of dance? 
A) Bharatnatyam  B) Manipuri  C) Kuchipudi  D) Kathak 

60. Ms. Meera Sahib Fathima Beevi is distinguished as the first lady 
A) Judge of the High Court    B) Governor of a State  
C) Judge of the Supreme Court   D) Prime Minister of Bangladesh 

61. The maximum poll expenditure for a Lok Sabha seat has been raised by the Union Cabinet on the 
suggestion of the Election Commission of India: 
A) From Rs. 30 lacs  to Rs. 70 lacs   B) From Rs. 40 lacs to Rs. 70 lacs  
C) From Rs. 50 lacs  to  Rs.70 lacs   D) From Rs. 40 lacs to Rs. one crore  

62. Which of the following agencies  determine  ranking of the countries in accordance with 
Economic Freedom Index ? 
A) World Economic Forum    B) UNDP   
C) Heritage Foundation & Wall Street Journal D) World Bank  

63. When is the World Population Day observed? 
A) May 31   B) July 11  C) Oct. 4  D) Dec. 10 

64. What was the highest individual score, in an innings in ICC T20 World Cup 2014? 
A) 101    B) 106   C) 111   D) 116 

65. Fiscal Policy is related to: 
A) Money supply in the economy   B) Regulation of the banking system  
C) Planning for economic development   D) Government’s Revenue and Expenditure 
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66. Which American President has recently painted a portrait of Dr. Manmohan Singh? 

A) Barack Obama  B) George Bush C) Bill Clinton         D) Ronald Reagan 
67. Which is the largest economy in African Continent? 

A) South Africa  B) Nigeria   C) Algeria         D) None of the above 
68. Who wrote ‘Why I am an Atheist’? 

A)  Subhash Chandra Bose B) Khushwant Singh C) Bhagat Singh  D)  Madan Lal Dhingra 
69. The recently set-up 7th Central Pay Commission is headed by  

A) Ashok Kumar Mathur    B) G.K. Chadha  
C) Montek Singh Ahluwalia    D) Ajit Prakash  Shah 

70. National Rural Employment Scheme was launched throughout the country from : 
A) 1.04.2007   B) 02.10.2007  C) 14.11.2007  D)  01.04.2008 

71. ‘England’ is related to ‘Atlantic Ocean’ in the same way as ‘Greenland’ is related to: 
A) Pacific Ocean  B) Atlantic Ocean C) Arctic Ocean D)  Antarctica Ocean 
 

Direction Qs.Nos.72-73: Choose one of the four given alternatives that shows the same relationship 
as is found between the two letters/numbers to the left of the sign :: 
72. FJUL  :   BOQQ  : :  LHRX  :   ? 

   A) BKPR     B)  MNCC  C)  HRYY  D)  HMNC 
73.  9  :   162  : :  8   :  ? 

   A)  162   B) 128   C) 96   D) 112   
74. Choose the group of words that  shows same relationship as is given in the question : 

Correspondent  :   News     :  Newspaper 
 A) Farmer : Crops : Food    B)  Mason :  Cement : Construction   
 C)  Cloud :  Water :  Ponds    D)  Road : Vehicle  :  Destination 
 
Direction (Q.Nos. 75-76): Three of the four alternatives given are same in a certain way and so form 
a group. Find the odd one that does not belong to the group: 
75.  A)  62    B)  42   C) 152   D)  110 
76.        A) Java   B) Sri Lanka  C)  Malaysia  D)  Cuba 
77. In a certain code language, ‘lu ra de’ means ‘what was it’; ‘mo nil’ means ‘you go’; ‘nil pam ra’ 

means ‘you like it’ and ‘tok lu fo’ means ‘she was sick’.  How will you write ‘what you like’ in 
that code ? 

   A) nil ra lu   B) pom nil ra  C) pom ra  lu  D) de nil  pam   
78. If  ‘MOUSE’ is coded as “PRUQC’,  then how is ‘SHIFT’ written in the same code? 
  A) VKIRD   B)  VKIDR  C)  VJIDR  D) VIKRD   
79. How many meaningful English words can be made with the letters ‘ATLE’ using each letter only 

once in each word? 
 A) Two   B) Three  C) Four  D)  More than four   
80. 36 vehicles are parked in a parking lot in a single row.  After the 1st car, there is one scooter, after 

2nd car there are  two scooters, after 3rd car there are  three scooters and so on.   Work out the 
number of scooters in the second half of the row. 

 A) 10    B) 12   C) 15   D) 17  
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Direction (Q.Nos. 81-83): Six plays A,B,C,D, E and F are to be organized from 2nd June to 7th 
June, i.e.  Monday to Saturday – one play each day.  There are two plays between C and D and one 
play between A and C.  There is one play between F and E and E is to be organized before F.  B is to 
be organized  before A, not necessarily immediately.  The sequence  of plays does not start with B. 
81. The sequence  of plays would start from which play ? 
 A)  A    B)  F   C) D       D) Can’t be determined 
82. On which date is play E to be organized  ? 
 A) 2nd    B) 4th    C) 3rd      D) Can’t be determined 
83. The sequence  of plays would end with which play ? 
 A) A    B) D   C) B     D) Can’t be determined 
84. B, C, D, E, F, G, H, J are sitting around a circle facing the centre .  B is an immediate neighbour of 

F and C.  E is second to the left of F.  G is second to the right of C.  D is not an immediate 
neighbour of G.  There are two persons between C and J.  How many persons are between C and 
D? 

 A) 2 only   B) 4 only  C) 5 only  D) either 2 or 4   
85. If  ‘A + B’ means that A is the father of B; ‘A–B’ means that A is the wife of B; ‘A × B’ means 

that A is the brother of B and ‘A ÷ B’ means that A is the daughter of B. Then  which of the 
following is true for  P ÷ R +  S + Q ? 

 A)  P is the daughter of Q   B) Q is the aunt (Father’s sister) of P  
 C)  P is the aunt (father’s sister) of Q  D) P is the mother of Q   
86. Q’s  mother is the sister of P and daughter of M.  S is the daughter of P and sister of T. How is M 

related to T? 
 A) Maternal Grandmother    B) Father     C) Maternal Grandfather     D) Option  (A) or (C)  
87. Ram starts walking towards East from a point ‘S’ and after walking 15 m turns to his left and 

walks 10 m, again he walks 10 m turning to his left and finally walks 22 m turning to his left and 
reaches  a point ‘Q’. How far and in which direction is he from the point ‘S’? 

 A) 15 m South  B)  22 m  South-East  C) 12 m South  D)   13 m South-East 
 
Direction Q.Nos. 88-89:  Read the pattern of  letters/numbers/terms and find the missing term from 
the given alternatives: 
88. 9, 27, 31, 155, 161, 1127, ? 
 A) 1135   B) 1288   C) 316   D)  2254 
89. Y, B, T, G, O, ? 
 A)  N     B) M    C)  L   D)  K  
90. In the following series some letters are missing which are given in that order as one of the 

alternatives below it.  Choose the correct alternative. 
 adb_ac_d_bcda_bcac_d 
 A)  bacbd    B) dbacb   C)  cbadb  D)  acbda 
91. If P denotes +, Q denotes –, R denotes ×  and S denotes  ÷ , then which of the following is correct?  
 A)  16 R 12 P 49 S 7  Q 9 = 200   B)  32 S 8 R 9 = 160 Q 12 R 12   
 C)  8 R 8 P 8 S 8 Q 8 = 57    D)  36 R 4 S 8 Q 7 P 4 =  10 
92. The age of father 10 years ago was thrice the age of his son. Ten years hence, father’s age will be 

twice that of his son.  The ratio of their present ages is : 
 A)  5 : 2    B)  7 : 3   C)  9  : 2  D)  13 : 4 
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Direction (Q.Nos.  93 to 95):  A survey of  a locality  regarding newspaper reading habits shows 
that: newspaper A is read by 26%; newspaper B is read by 25%; newspaper C is read by 14%; 
newspaper A and B are read by 11%;  Newspaper B and C are read by 10%; Newspaper C and A 
are read by 9% and newspaper C only is read by 0%. 
93. The percentage of readers who  read all the three newspapers is  
 A) 10   B) 4    C) 5   D)  6 
94. The percentage of readers who read  at most one newspaper is  
 A)  20   B) 80    C) 60   D) None of the above 
95. The percentage of reader who read at least two newspapers is 
 A) 15     B) 16    C) 20   D) None of the above  
96. How many times are the two hands of a clock at right angles in a day. 
 A) 24    B)48    C) 22   D)  44 
97. Calendar for the year 2014 will be the same for the year: 
 A) 2018   B)2020   C) 2022  D)  none of the above 
98. Choose the alternative which most closely resembles the mirror-image of word PAINTED  
 
 
 
 
 
99. Two positions of a dice are shown below. When there are two dots at the bottom, the number of 

dots at the top will be 
 
 
 
 A) 2   B) 3    C) 5   D) 6 
100. How many triangles are there in the given figure? 
 
 
 
 
 A) 28    B) 24    C) 25   D) 26 
101.  Which one of the following is the main objective of teaching? 
 A) To develop thinking power of the students         

B) To give information related to the syllabus 
 C) To dictate notes to the students          

D) To prepare students to pass the examination 
102.  Which of the following statements regarding “Memory Level of Teaching” ( MLT) is incorrect ? 
 A) Memory is the initial stage of teaching 
 B) Memory Level of Teaching mainly depends on the prevailing socio-economic conditions 
 C) MLT includes the habit of rote memorization of facts and bits of information 
 D) MLT enables the learner to retain and also reproduce the learnt material whenever required  
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103.  Which of the following statements regarding  “Understanding Level of Teaching” ( ULT) is 
incorrect? 

 A) Morrison is the main proponent of ULT 
B) It is ‘memory plus insight’ as it goes beyond just the memorizing of facts. It focuses on the 

mastery of the subject 
 C) Cultural materialism is also a primary determining factor of ULT 
 D) It provides more and more opportunities for the students to develop the intellectual behavior  
104.  Which of the following statements regarding ‘ Reflective Level of Teaching’(RLT) is  incorrect ? 
 A) Hunt is the main proponent of RLT  
 B) It is problem - centred  teaching 
 C) The students are assumed to adopt some sort of research approach to solve the problem 
 D) The teacher assumes the  primary place and the pupil occupies the secondary place 
105.  Which of the following is not a domain or category of instructional objectives according to Bloom 

et al ? 
 A) Socio-Political Domain   B) Cognitive Domain  

C) Affective Domain     D)Psychomotor Domain 
106.  Which of the following is not one of the advantages of “Lecture Method”? 
 A). It is economical as it can cover large audience in less time 
 B) It promotes social cohesion among the pupils 
 C) It is useful for stimulating further learning 
 D) It has the flexibility for adapting the lecture according to time and equipment available 
107.  Which one of the following is not one of the advantages of ‘TV or Video Presentation’ as a 

teaching method? 
A) Many important personalities and experts are brought to the classroom through video-

presentation 
 B)  This method is specifically useful for adult learners 
 C)  It promotes a sort of nativism among the learners 

D) Illustrated lectures and demonstrations can be supplemented by other teaching aids such as 
slides, models, specimens, etc. 

108.  Which one of the following is not one of the advantages of ‘Team Teaching Method’? 
 A) It helps in sharing the best faculty by more students 
 B) It involves optimum use of teaching techniques and devices 
 C) It improves the teaching quality 
 D) It affects the socio-economic conditions of the pupils 
109.  Which one of the following is not one of the advantages of  ‘Group Discussion Method’ ? 

A) It flattens out the ideological differences of the pupils. 
B) It can be planned where there is certainty about the conclusions and objectives. The discussion 

is guided by the trainer in an appropriate sequence. 
C) It promotes communication and interaction within a group around a topic or problem presented 

to the group. 
D) It can also be unplanned where the topic presented for discussion is without any opening 

statement and discussion that follows is entirely spontaneous. 
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110.  Which one of the following is not one of the advantages of the “Case Study Method’? 
A) It provides opportunity to the participants to  critically analyze the problem  and express 

reasoned opinions. 
B) It promotes gender-sensitivity among the pupils. 

 C) It enhances decision –making and  problem-solving skills. 
 D) It ensures active participation, which may lead to innovative  solutions. 
111.  Which one of the following is not one of the functions of ‘ Evaluation’? 
 A) Feedback  B) Motivation  C) Ideological indoctrination       D) Better guidance. 
112.  Who among the following is considered a proponent of  the Wardha Education System? 
 A) Sri Aurobindo B) S. Radhakrishnan C) J.Krishnamurti  D) Mahatma Gandhi 
113.  Who among the following was the main proponent of the Kindergarten system of education? 
 A) Froebel  B) Rousseau  C) Maria Montessori  D) John Dewey 
114.  Which of the following is not one of the “Projected Visual Aids”? 
 A) Slides  B) Bar Chart  C) Handheld Projector D) Video Projector 
115. Which of the following is an independent variable in teaching-learning process? 
 A) Student   B) Institution  C) Teacher   ( D) Parents 
116.  The highest level of cognitive domain is:  
 A) Synthesis  B) Analysis  C) Comprehensive  D)Evaluation 
117.  Who has the least chance of becoming an effective teacher? 
 A) One who has no interest in teaching B) One who is a strict disciplinarian 
 C) One who neglects teaching  D)One who knows his subject well 
118.  Books can be a powerful source of communication, provided: 
 A) The content is abstract    B) The content is illustrative 
 C) The medium is Hindi   D) The print quality of the book is good 
119.  Good teaching is best reflected by: 
 A) Attendance of students   B) Number of distinctions  
 C) Meaningful questions asked by students  D) Pin-drop silence in the class 
120.  The ability to locate, evaluate and effectively use information is an important trait known as : 
 A) Critical thinking    B) Information literacy 
 C) Number of distinctions   D) Selective attention 
 

Section – B (Hindi Version) 
41- vfr&pkydrk HkkSfrd xq.k gS ftldks fdl ls lacaf/r fd;k tkrk gS% 

A) fdlh inkFkZ dks izkoLFkk ifjorZu ds fcuk BaMk djuk   B)  ?k"kZ.k ds fcuk rjy izokg    
C)  rki izfrjks/ dh gkfu     D)  fo|qr~ izfrjks/ dh gkfu 

42- IykfLVd dh fdLe tks tSo&fuEuhdj.kh; gS vkSj gky gh eas lekpkjksa esa jgh gSA tks la?kVd bls tSo&fuEuhdj.kh; 
cukrk gS] og gS% 

 A)  ouLifr rsy  B)  isVªksfy;e  C)  dkWuZLVkpZ  D) peM+k 
43- ,d xzke ds Hkkj esa fdrus Mkbut+ gSa% 
 A)  900  B)  375   C)  981   D)  250 
44- ;fn i`Foh vkSj lw;Z esa nksxquh nwjh gksrh ftruh vc gS] rks iF̀oh ij lw;Z }kjk yxk;k xq#Rokd"khZ cy gksxk% 
 A)  ftruk vc gS ml ls nksxquk cM+k    B)  ftruk vc gS] ml ls pkj xquk   

C)  ftruk vc gS] ml ls vk/k   D)  ftruk vc gS] ml ls ,d&pkSFkkbZ 
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45- og igyk Hkkjrh; dkSu Fkk ftl dk fczfV'k laln esa p;u fd;k x;k Fkk% 

 A)  nknkHkkbZ ukjksth B)  th- ds- xks[kys C)  fcfiu pUnziky D)  ykyk yktir jk; 

46- fdl jktiwr oa'k us vdcj ds vkxs vkReleiZ.k ugha fd;k Fkk% 

 A)  ijekj  B)  izfrgkj  C)  jkBkSj  D)  fllksf/;k 

47- dkSu&lh Hkk"kk Hkkjr dh Dykfldh Hkk"kk ugha gS% 

 A)  laLd`r  B)  rsyqxq    C)  fgUnh  D)  ey;kye 

48- dkyizHkkou ds oSKkfud vè;;u dks dgrs gSa% 

 A)  gsrqfoKku   B)  tjkfoKku C)  vfLFkfoKku   D)  fo:firk&foKku 

49- fdl Hkkjrh; dykdkj us lafo/ku dh gLrfyf[kr dkWih dks vyad`r fd;k Fkk% 

A) Uaknyky cksl  B)   fefgj lsu C)  ,l- ,u- cSuthZ  D)  eqds'k cUnksikè;k; 

50- Hkkjr ds lafo/ku dh izLrkouk dk la'kks/u fdruh ckj fd;k x;k gS% 

 A)  ,d ckj  B)  nks ckj  C)  rhu ckj  D)  dHkh ugha 

51- fdUgas ‘Bretton Woods Twins’ dk miuke fn;k tkrk gS% 
 1. IDA    2. IMF     3.  IBRD     4.   WTO  
 A)  1 vkSj 4  B)  3 vkSj 4  C)  2 vkSj 4  D)  2 vkSj 3 

52- Hkkjrh; naM lafgrk dh /kjk 498 , yksdfiz; /kjk gSA ;g fdl ls lacaf/r gS% 

 A)  efgykvksa ds lEifÙk vf/dkj   B)  efgykvksa ds fy, vkj{k.k  

C)  ngst ds fy, mRihM+u    D)  vigj.k vkSj cykRdkj 

53- la;qDr jk"Vª tyok;q ifjorZu lEesyu COP19 vFkok CMP9  uoacj 2013 esa dgk¡ ij gqvk Fkk% 

 A) iSfjl  B)  okjlk  C)  ekWfUVª;y   D)  d;ksVks 

54- Hkkjr esa vuqeksfnr 'ks;j ckt+kjksa dh la[;k gS% 

 A)  19  B)  20   C)  23    D)  24 

55- fdl jkT; dks jsyos usVodZ esa igyh ckj yk;k x;k gS% 

 A)  ef.kiqj B)  vle  C)  f=kiqjk   D)   v#.kkapy izns'k 

56- 2013 ds fy, 'kkfURk fujL=khdj.k vkSj fodkl ds fy, vkdkaf{kr bfUnjk xk¡/h iqjLdkj ds fy, gky gh esa fdl dk 

p;u fd;k x;k gS% 

 A)  byk HkV~V     B)  es/k ikVsdj  C)  ,Utsyk edsZy  D)  paMh izlkn HkV~V 

57- foDVksfj;k vt+kjsaUdk] ftl us vkLVªsfy;u vksiu Vsful efgyk flUxyt+ in 2012 thrk gS] dgk¡ ls gS% 

 A)  ;w- ,l- ,-  B)  csykjl  C)  teZuh   D)  Lyksokfd;k 

58- jk"Vªh; [ksy fnol dc euk;k tkrk gS% 

 A)  29 vxLr  B)  29 tqykbZ  C)  29 flarcj   D)  20 vxLr 

59- lksuy ekuflag u`R; ds fdl :Ik ds fy, izfl¼ gS% 

 A)  HkkjrukV~;e  B)  ef.kiqjh  C)  dqfpiqfM+   D)  dFkd 
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60- fel ehjk lkfgc Qkfrek choh fdl ds fy, igyh efgyk ds :Ik eas  izfrf"Br gS% 
 A)  mPp U;k;ky; dh U;k;k/h'k     B)  jkT; dh jkT;iky 

C)  loksZPp U;k;ky; dh U;k;k/h'k    D)  ckaXykns'k dh iz/ku eU=kh 
61- yksdlHkk lhV ds fy, vf/dre ernku [kpZ] Hkkjr ds fuokZpu vk;ksx ds lq>ko ij dsUnzh; eU=kh e.My }kjk c<+k 

fn;k x;k gS% 
 A) 30 yk[k ls 70 yk[k rd    B)  40 yk[k ls 70 yk[k rd  

C)  50 yk[k ls 70 yk[k rd    D)  40 yk[k ls ,d ØksM+ rd      
62- vkfFkZd Lok/hurklwpdkad ds  vuqlkj ns'kksa dh jSafdax dks dkSu&lh ,tUlh fu/kZfjr djrh gS% 
 A)  oYMZ bDukWfed Qksje  B)  UNDP  C)  gsfjVst QkmaMs'ku ,.M okWy LVªhV tuZy   D)  fo'o cSad 
63- fo'o tula[;k fnol dc euk;k tkrk gS% 
 A)  31 ebZ B)  11 tqykbZ C)  4 vDrwcj   D)  10 fnlacj 
64- ICC T-20 fo'o di 2014 esa ,d ikyh esa nkSM+ksa dk mPpre O;fDrxr vad D;k Fkk% 
 A)  101  B)  106  C)  111    D)  116 
65- jktdks"kh; uhfr fdl ls lacaf/r gS% 
 A)  vFkZO;oLFkk esa eqnzk dh vkiwfrZ B)  cSafdax iz.kkyh dk fofu;eu  

C)  vkfFkZd fodkl ds fy, vk;kstu   D)  ljdkj dh vk; vkSj [kpZ 
66- fdl vejhdh jk"Vªifr us Mk- eueksgu flag dk gky gh essa :ifp=k cuk;k gS% 
 A)  cjkd vksckek B)  tkWtZ cq'k C)  fcy fDyaVu   D)  jksukYM jhxu 
67- vQzhdh egk}hi esa lc ls cM+h vFkZO;oLFkk dkSu&lh gS% 
 A)  nf{k.k vQzhdk B)  ukbtsfj;k C)  vYthfj;k   D)  buesa ls dksbZ Hkh ugha gS 
68- ‘Why I am an Atheist’ dk ys[kd dkSu Fkk % 
 A)  lqHkk"k pUnz cksl B)  [kq'koar fl¡g  C)  Hkxr fl¡g   D)  enuyky <haxjk 
69- gky gh esa LFkkfir 7&osa dsUnzh; osru vk;ksx dk vè;{k dkSu gS% 
 A)  v'kksd dqekj ekFkqj    B)  th- ds- pM~<k   

C)  eksUVsd fl¡g vkgywokfy;k   D)  vthr izdk'k 'kkg 
70- jk"Vªh; xzkeh.k jkst+xkj ifj;kstuk laiw.kZ ns'k esa dc ls vkajHk dh xbZ Fkh% 
 A)  1- 04- 2007  B)  02- 10- 2007  C)  14- 11- 2007  D)  01- 04- 2008  
71- ^bXySaM* dk ^vVykafVd lkxj* ls ogh laca/ gS tks xzhuySaM dk laca/ gS% 

A) 'kkar egklkxj ls B)  vVykafVd egklkxj ls     C)  mÙkj/zqo lkxj ls D)  nf{k.k&/zqo lkxj ls 
 

funsZ'k % (iz'u Uak- 72&73) % uhps fn, x, pkj fodYiksa esa ls ,d dks pqusa tks mlh laca/ dks n'kZkrk gS tks 
fpUg   % % dh ckb±Z vksj nks  v{kjksa@la[;kvksa ds njfe;ku feyrk gS% 

72- FJUL :  BOQQ  : :  LHRX :  ? 
A) BKPR  B) MNCC C) HRYY  D) HMNC 

73- 9 % 162 % % 8  %  \ 
A)  162  B) 128  C) 96   D)  112 
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74- ml v{kj&lewg dks pqusa tks ogh laca/ n'kkZrk gS tks bl iz'u esa fn;k x;k gS% 

 Lakoknnkrk  %  lekpkj   %  lekpkj  i=k 

 A)  fdlku % Qlysa % vkgkj    B)  jktxhj % lhfeUV % fuekZ.k 

C)  ckny % ikuh % rkykc  D)  lM+d % okgu % xUrO; 

 

funsZ'k (iz'u Uk-a 75&76) fn, x, pkj fodYiksa esa ls rhu fodYi ,d rjhds ls leku gaS vkSj bl rjg ,d 

lewg cukrs gaSA ml fo"ke eí dks ekywe djsa tks bl lewg ls lacaf/r ugha gSA 

75- A)  62  B)  42  C)  152    D)  110  

76- A)  tkok B) Jhyadk   C) eysf';k    D) D;wck   

77- ,d fo'ks"k dksM Hkk"kk esa] ‘lu ra de’ dk eryc gS ‘what was it’; ‘mo nil’ dk eryc gS ‘you go’; ‘nil pam 

ra’ dk eryc gS ‘you like it’ vkSSj ‘tok lu fo’ dk eryc gS ‘she was sick’ vki ml dksM esa ‘what you 

like’ dks dSls fy[ksaxs% 
 A)  nil ra lu  B) pom nil ra        C) pom ra lu  D) de nil pam 
78- ;fn ‘MOUSE’ dks ‘PRUQC’ ds :Ik esa dksMc¼ fd;k tkrk gS] rks mlh dksM esa ‘SHIFT’ dks dSls fy[kk 

tkrk gS%   
 A)  VKIRD  B) VKIDR  C) VJIDR  D) VIKRD 
79- ‘ATLE’ v{kjksa ls vaxzst+h ds fdrus vFkZiw.kZ 'kCn cu ldrs gSa] ijUrq gjsd v{kj dk gjsd 'kCn esa dsoy ,d ckj 

gh iz;ksx djuk gS% 

 A)  nks   B)  rhu  C) pkj   D) pkj ls vf/d   

80- ,d ikfdZ±x LFkku esa ,d iafDr esa 36 okgu [kM+s fd, x, gSaA igyh dkj ds ckn] ,d LdwVj gS] nwljh dkj ds 

ckn nks LdwVj gaS] rhljh dkj ds ckn rhu LdwVj vkSj bR;kfn A iafDr ds nwljs vk/s Hkkx esa LdwVjksa dh la[;k dks 

ekywe djsa%  
 A)  10     B)   12    C)  15    D)   17 
 

funzsZ'k% (iz'u ua- 81&83)% Ng ukVdksa A, B, C, D, E, vksj F dks 2 twu ls 7 twu rd vFkkZr lkseokj ls 

'kfuokj rd — ,d ukVd izfr fnu & vk;ksftr djuk gS A C vkSj D ds njfe;ku nks ukVd gSa vkSj A ,oa 

C ds njfe;ku ,d ukVd gS A F vkSj E ds njfe;ku ,d ukVd gS vkSj E dks F ls igys vk;ksftr djuk 

gSA B dks A ls igys vk;ksftr djuk gS] ij t+:jh ugh fd rqjUr djuk gSA ukVdksa dk Øe B ls vkjaHk ugha 

gksrk A 

81- ukVdksa dk Øe fdl ukVd ls vkjaHk gksxk% 

 A)  A   B)  F    C)  D  D)  fu/kZfjr ugha fd;k tk ldrk 

82- ukVd E dks fdl rkjh[k dks vk;ksftr djuk gS% 

 A)   nwljh  B)  pkSFkh C)  rhljh   D)  fu/kZfjr ugha fd tk ldrh 
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83- ukVdksa ds Øe dk fdl ukVd ls var gksxk% 

 A)  A     B)  D   C)  B     D)  fu/kZfjr ugha fd;k tk ldrk 

84- B, C, D, E, F, G, H, J ,d nk;js esa dsaUnz ds lEeq[k cSBs gSaA B, F vkSj C dk fudVre iM+kslh gSA E, F ds ck,¡ 

ls nwljk gSA G, C ds nk,¡ ls nwljk gSA D, G dk fudVre iM+kslh ugha gSA C vkSj J ds njfe;ku nks O;fDr gSaA C 

vkSj D ds njfe;ku fdrus O;fDr gSa% 

 A)  dsoy 2  B)  dsoy 4 C)  dsoy 5 D)  ;k 2 ;k 4 

85- ;fn A + B dk eryc gS fd A, B dk firk gS_ ‘A–B’  dk eryc gS fd A, B dh iRuh gS] ‘A × B’ dk 

eryc gS fd A, B dk HkkbZ gS vkSj ‘A ÷  B’ dk eryc gS fd A, B dh csVh gSA rks ‘P÷R+S+Q ds fy, 

dkSu&lk lgh gS%   

 A)  P, Q dh csVh gS    B)  Q, P dh vkaV (firk dh cgu) gS  

C)  P,Q dh vkaV (firk dh cgu) gS  D)  P, Q dh ekrk gS 

86- Q dh ekrk] P dh cgu vkSj M dh csVh gS A S, P dh csVh vkSj T dh cgu gSA M  dk T ls D;k fj'rk gSA  

 A)  ukuh   B)  firk  C)  ukuk  D)  fodYi (A) vFkok (C) 

87- jke S fcUnq ls iwoZ dh rjQ pyuk 'kq: djrk gS vkSj 15 m pyus ds ckn vius ck,¡ eqM+rk gS vkSj 10 m pyrk 

gSA fQj og ck,¡ eqM+ dj 10 m pyrk gS vkSj var esa vius ckbZ± vksj eqM+dj 22 m pyrk gS vkSj ‘Q’  fcUnq rd 

igq¡prk gSA og ‘S’ fcUnq ls fdruh nwj vkSj fdl fn'kk esa gS% 

 A)  15 m nf{k.k  B)  22 m nf{k.k&iwoZ C)  12 m nf{k.k      D) 13 m nf{k.k&iwoZ 

 

funsZ'k (iz'u ua- 88&89) % v{kjksa@la[;kvksa@inksa ds isVuZ dks i<s+a vkSj fn, x, fodYiksa ls xk;c in dks 

ekywe djsa% 

88- 9] 27] 31] 155] 161] 1127]  \ 

 A)  1135 B)  1288   C)  316   D)  2254 

89- Y,  B, T, G, O,  ? 
 A) N  B)  M      C) L    D)  K   
90- fuEukafdr Øe esa] dqN v{kj xk;c gSa tks ml Øe esa uhps fn, ,d fodYi esa fn, x, gSaA lgh fodYi dks pqusa% 
 adb_ac_d_bcda _bcac _d  
 A)  bacbd  B)  dbacb  C)  cbadb  D)  acbda     
91- ;fn P dk vFkZ +  gS] Q dk vFkZ – gS] R dk vFkZ × gS] vkSj S dk vFkZ ÷ gS] rks fuEukafdr esa ls dkSu&lk 

lgh gS% 
 A)  16 R 12 P 49 S 7 Q 9 = 200 B)  32 S 8 R 9 = 160 Q 12 R 12     

C)  8 R 8 P 8 S 8 Q 8 =57  D)  36 R  4 S 8 Q 7 P 4 = 10 

92- 10 Lkky igys firk dh vk;q csVs dh vk;q ls rhu xquk FkhA 10 lky ds ckn] firk dh vk;q csVs dh vk;q ls nksxquh 

gksxhA mu dh orZeku mezksa dk vuqikr gS% 

 A)  5 % 2  B)  7 % 3  C)  9 % 2   D)  13 % 4 
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funsZ'k (iz'u ua- 93&95)%  lekpkj i=k i<+us dh vknrksa ds fy, ,d cLrh dk losZ{k.k n'kkZrk gS fd % 

lekpkji=k A dks 26% i<+rs gSa] lekpkji=k B dks 25% i<+rs gSa] lekpkji=k C dks 14% i<+rs gSa_ 

lekpkj i=k A vkSj B dks 11% i<+rs gS_ lekpkj i=k B vkSj C dks 10% i<+rs gSa_ lekpkji=k  C 

vkSj A dks 9% i<+rs gSa vkSj lekpkji=k C dks dsoy 0% i<+rs gSaA 

93- tks ikBd lHkh rhu lekpkji=k i<+rs gSa] mudh izfr'krrk gS% 

 A)  10   B)  4   C)  5   D)  6 

94- tks ikBd rdjhcu ,d lekpkji=k i<+rs gSa] mudh izfr'krrk gS% 

 A)  20   B)  80   C)  60   D)  buesa ls dksbZ Hkh ugha gS 

95- tks ikBd de ls de nks lekpkji=k i<+rs gSa] mudh izfr'krrk gS% 

 A)  15   B)  16   C)  20   D)  buesa ls dskbZ Hkh ugha gS 

96- ,d ?kM+h dh nksuksa lqb;k¡ ,d fnu esa fdruh ckj ledks.k ij gksrh gSa% 

 A)  24   B)  48   C)  22   D)  44 

97- 2014 lky dk dSysUMj fdl lky ds dSysUMj leku gksxk% 

 A)  2018  B)  2020  C)  2022  D)  buesa ls dksbZ Hkh ugha gS 

98- ml fodYi dks pqus tks 'kCn PAINTED  ds niZ.k&izfrfcEc ls vfrvf/d feyrk gS% 

 

 

 

99- ,d ikls dh nks fLFkfr;kas dks uhps fn[kk;k x;k gSA tc fupys Hkkx esa nks fcUnq gksa] rks Åij okys Hkkx eas fdrus 

fcUnq gksaxs% 

 

 

 A)  2   B)  3   C)  5   D)  6 

100- fuEukafdr js[kkfp=k esa fdrus f=kHkqt gSa% 

 
 
 

 A)  28   B)  24   C)  25   D)  26 

101- vè;kiu dk mís'; dkSu&lk gS% 

A) fo|kfFkZ;ksa dh fparu 'kfDr dks fodflr djuk  B)  ikB~;Øe ls lacaf/r tkudkjh nsuk 

 C)  fo|kfFkZ;ksa dks uksVl fy[kkuk   D)  fo|kfFkZ;ksa dks ijh{kk ikl djus ds fy, rS;kj djuk 
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102- vè;kiu dk Lèfr Lrj(MLT) ds laca/ eas dkSu lk dFku lgh ugha gS % 

 A)  Lèfr vè;kiu dh vkajfHkd voLFkk gS   

B)  vè;kiu dk Lèfr Lrj  eq[;r% izpfyr lkekftd&vkfFkZd O;oLFkkvksa ij fuHkZj djrk gS 

 C)  MLT esa tkudkjh ds rF;ksa vkSj va'kksa ds jVu daBLFkdj.k dh vknr lfEefyr gS  

D) MLT f'k{kkFkhZ dks bl ;ksX; cukrk gS fd os lh[kh lkexzh dks ;kn j[k ldsa vkSj t+:jr iM+us ij bldks nksgjk  

    ldsa 

103- ^vè;kiu ds cks/ Lrj (ULT)* ds laca/ esa dkSu&lk dFku lgh ugha gS% 

 A)  ULT dk eq[; izLrkod ekWfjlu gS   

B)  ;g ^Le`fr tek vUrnZ̀f"V* gS D;ksafd ;g fljQ+ rF;ksa ds daBLFkdj.k rd gh lhfer ugha jgrhA ;g fo"k; ds  

    izHkqRo ij dsfUnzr gksrh gS   

C)  lkaLdf̀rd HkkSfrdokn Hkh ULT dk ,d izkFkfed fu/kZjd dkjd gS   

D)  ;g fo|kfFkZ;ksa dks ckSf¼d vkpj.k dks fodflr djus esa vf/dkf/d  volj iznku djrh gS 

104- ^vè;kiu dk foe'kZ Lrj (RLT)* ds laca/ esa dkSu&lk dFku lgh ugha gS% 

 A)  RLT dk eq[; izLrkod  vUos"k.k gS 

 B)  ;g leL;k&dsfUnzr vè;kiu gS 

 C)  fo|kfFkZ;ksa dks leL;k ds lek/ku ds fy, ,d izdkj dk 'kks/ mikxe viukuk iM+rk gS 

 D)  vè;kid izkFkfed LFkku xzg.k djrk gS vkSj fo|kFkhZ lgk;d LFkku xzg.k djrk gS 

105- Cywe vkSj nwljs  ys[kdksa ds vuqlkj 'kSf{kd mís';ksa dk {ks=k vFkok izoxZ dkSu&lk ugha gS & 

 A)  lkekftd&jktuhfrd {ks=k    B)  laKkukRed {ks=k 

 C)  Hkkoijd {ks=k      D)  euks&izsjd  {ks=k 

106- ^ysDpj fof/* dk Qk;nk dkSu&lk ugha gS% 

 A)  ;g fdQk;rh gS D;ksafd ;g de le; esa fo'kky Jksrk&x.k dks doj dj ldrh gS   

B)  ;g fo|kfFkZ;ksa esa lkekftd lalfDr dks izksRlkfgr djrh gS 

 C)  ;g vf/d vf/xe dks izksRlkfgr djrh gS    

D)  blesa  miyC/ le; vkSj lkt+&lkeku ds vuqlkj vuqdwy cuus dh ypd gksrh gS 

107- vè;kiu fof/ ds :Ik esa ^Vh Okh vFkok ohfM;ks izLrqfrdj.k* dk Qk;nk dkSu&lk ugha gS % 

 A)  ohfM;ks izLrqfrdj.k ds }kjk vusd izfl¼ O;fDrRoksa vkSj fo'ks"kKksa dks d{kk esa yk;k tkrk gS  

B)  ;g fof/ fo'ks"kr;k o;Ld f'k{kkfFkZ;ksa ds fy, mi;ksxh gS        

C)  ;g f'k{kkfFkZ;ksa esa ,d izdkj ds ns'kh;rkokn dks izksRlkfgr djrh gS  

D)  lfp=k ysDpjksa  vkSj izn'kZuksa dks LykbMsa] ekWMykssa] uewuksa bR;kfn tSlh vè;kiu ,Mt+~ ls laiw.kZ fd;k tk ldrk gS 
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108- ^lewg vè;kiu fof/* dk Qk;nk dkSu&lk ugha gS%      % 

 A)  ;g vf/d fo|kfFkZ;ksa dks mÙke izkè;kid&oxZ dks lk>k djus esa lgk;rk djrh gS  

B)  bl esa vè;kiu rduhdksa vkSj ;qfDr;ksa dk vf/dre mi;ksx lfEefyr gksrk gS   

C)  ;g vè;kiu xq.krk esa lq/kj ykrh gS   

D)  ;g fo|kfFkZ;kas dh lkekftd&vkfFkZd ifjfLFkfr;ksa  dks izHkkfor djrh gS 

109- ^lewg ifjppkZ fof/* dk ykHk dkSu&lk ugha gS% 

 A)   ;g fo|kfFkZ;ksa dh oSpkfjd fHkUurkvksa dks cjkcj djrh gS 

 B)   tgk¡ ij ifj.kkeksa vkSj mís';ksa  ds ckjs esa fuf'prrk gksrh gS] ogk¡ ij bl dh O;oLFkk dh tk ldrh gS A bl  

            ifjppkZ dks izf'k{kd }kjk mfpr vuqØe esa funsf'kr fd;k tk ldrk gS 

 C)  lewg ds lkeus izLrqr fd;s x, fo"k; vFkok leL;k ij lewg esa lapkj vkSj varfØZ;k dks izksRlkfgr djrh gS 

 D)  tgk¡ ij ifjppkZ  ds fy, izLrqr fo"k; fdlh vkajfHkd dFku ls eqDr gksrk gS] ogk¡ ;g vfu;ksftr Hkh dh tk  

           ldrh gS vkSj bl ls mRiUu ifjppkZ lEiw.kZr% LokHkkfod gksrh gSA 

110- ^o`Ùk&vè;;u fof/* dk ykHk dkSu&lk ugha gS% 

 A)  ;g Hkkxhnkjksa dks leL;k dk vkykspukRed fo'ys"k.k djus vkSj rdZlaxr jk; nsus dk volj iznku djrh gS 

 B)  ;g fo|kfFkZ;ksa esa fyax&laosfnrk  dks izksRlkfgr djrh  gS  

C)  ;g fu.kZ;u vkSj leL;k&lek/ku dh dq'kyrkvksa dks Ck<+krh gS   

D)  ;g lfØ; Hkkxhnkjh dks ;dhuh cukrh gS tks ifjorZudkjh lek/ku dks izsfjr djrh gS 

111- ^ewY;k¡du* dk dk;Z dkSu&lk ugha gS% 

 A)  izfriqf"V  B)  vfHkizsj.k  C)  oSpkfjd f'k{k.k  D)  csgrj funsZ'ku 

112- ok/kZ f'k{kk iz.kkyh dk izLrkod fdls ekuk tkrk gS% 

 A)  Jh vkjfcUnks  B)  ,l- jk/kd`".ku C)  ts- d̀".kkewfrZ   D)  egkRek xk¡/h 

113- f'k{kk dh fdaMjxkVZu iz.kkyh dk eq[; izLrkod fdls ekuk tkrk gS% 

 A)  Qzkscsy  B)  :lks   C)  ekfj;k ekWUVsljh  D)  tkWgu M;wbZ 

114- ^izf{kIr fot+q;y ,M* dkSu&lh ugha gS% 

 A)  LykbMsa  B)  ckj pkVZ   C)  gkFk esa idM+k izkstsDVj D)  ohfM;ks izkstsDVj 

115- vè;kiu&vf/xe izfØ;k esa Lora=k pj  dkSu&lk gS% 

 A)  fo|kFkhZ  B)  laLFkk  C)  vè;kid   D)  ekrk&firk 

116- laKkukRed {ks=k dk mPpre Lrj gS% 

 A)  la'ys"k.k     B)  fo'ys"k.k  C)  O;kid   D)  ewY;k¡du 

117- izHkkodkjh vè;kid cuus dk U;wure volj fdldk gS% 

 A)  ftl dh vè;kiu esa dksbZ :fp ugha gS  B)  tks dBksj vuq'kkld gS 

 C)  tks vè;kiu dh mis{kk djrk gS  D)  tks viuk fo"k; cgqr vPNh rjg ls tkurk gS 
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118- iqLrdsa lapkj dk l'kDr L=kksr gks ldrh gSa] c'krsZ fd  & 

 A)  fo"k;oLrq vewrZ gks    B)  fo"k;oLrq fun'khZ gks 

 C)  ekè;e fgUnh gks    D)  iqLrd dh eqnz.k xq.krk vPNh gks 

119- vPNk vè;kiu cf<+;k :Ik esa fdl }kjk  izfrfcfEcr gksrk gS% 

 A)  fo|kfFkZ;ksa dh mifLFkfr   B)  foHksnksa dh la[;k   

C)  fo|kfFkZ;ksa }kjk iwNs x, vFkZiw.kZ iz'u  D)  d{kk esa iw.kZ uhjork 

120- lwpuk dks <w¡<uk] ewY;k¡du djuk vkSj izHkkodkjh <zax ls mi;ksx djuk ,d egRoiw.kZ fo'ks"kd gS ftls dgrs gSa% 

 A)  vkykspukRed fparu    B)  lwpuk lk{kjrk   

C)  foHksnksa dh la[;k    D)  p;ukRed è;ku 
 

Section – C (Subject Knowledge) 
121. Which of the following is not a chromosomal mechanism for sex determination? 

A) Genic balance mechanism   B) Haploid diploid mechanism 
C) Metabolic mechanism   D) Single gene mechanism 

122. Which assisted reproductive technology has been used for the longest time period? 
A) Intracytoplasmic sperm injection  B) Artificial insemination  
C) In vitro fertilization   D) Gamete intrafallopian transfer 

123. Lysosomes containing inactive enzymes are called 
A) Autophagosomes    B) Residual bodies 
C) Secondary lysosomes   D) Primary lysosomes 

124. Transpiration pull will be maximum under which of the following conditions ? 
A) Open stomata, high humid atmosphere, and well irrigated soil 
B) Open stomata, high humid atmosphere, and dry soil 
C) Open stomata, dry atmosphere, and moist soil 
D) Closed stomata, low light intensity and humid atmosphere 

125. Hepatic portal system starts from 
A) Digestive system to liver   B) Kidney to liver 
C) Liver to heart    D) Liver to kidney 

126. Ivan Pavlov performed experiments on 
A) Simple reflexes    B) Conditioned reflexes 
C) Cardiac reflexes    D) Origin of life 

127. Greenhouse effect is caused by 
A) Green plants     B) Infrared rays 
C) UV rays      D) X-rays 

128. Free living nitrogen fixing bacteria are 
A) Nitrosomonas    B) Clostridium 
C) Rhizopus     D) Anabaena 
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129. Eutrophication is caused by excess of                 in water. 
A) Nutrients     B) Heavy metals 
C) Pesticides     D) Microbes 

130.  Photosynthetic pigment present in plants are 
A) Chlorophyll a and b   B) Chlorophyll a and c 
C) Chlorophyll a     D) Chlorophyll b 

131. In aerobic organisms, glucose is converted into                as a final product 
A) Lactic acid     B) CO2 
C) O2      D) Ethanol  

132. The role of double fertilization in angiosperms is to produce  
A) Integuments    B) Endosperm 
C) Endocarp     D) Cotyledons 

133. Natural pacemaker in heart is 
A) SA node     B) Purkinje fibers 
C) Chordae tendineae    D) Mitral valve 

134. The excretory organs in arthropods are 
A) Nephron      B) Flame cells 
C) Tubefeet     D) Malpighian tubules 

135. Which part of the brain in human body controls temperature? 
A) Cerebellum     B) Medulla 
C) Hypothalamus    D) Thalamus  

136. Addison’s disease is caused by deficiency of a hormone which is secreted by 
A) Pitutiary gland    B) Adrenal cortex 
C) Thyroid      D) Thymus  

137. Which of the following is a secondary pollutant? 
A) Aerosol     B) CO 
C) PAN     D) SO2 

138. The layer of earth’s atmosphere in which clouds occur is  
A) Stratosphere    B) Troposphere 
C) Thermosphere    D) Mesosphere 

139. Hybrid vigour is due to 
A) Homozygosity of pure characters   
B) Superiority of all genes 
C) Heterozygosity     
D) Mixing up of the cytoplasm of male with that of female 

140. Crosses between two plants by the same variety are called 
A) Intravarietal    B) Intervarietal 
C) Interspecific    D) Intergenic 
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141. Which of the following explain relay intercropping? 
A) Component crops are totally mixed in the available space 
B) Component crops arranged in alternate rows 
C) Sowing of fast growing crops with a slow growing crop 
D) Second crop is sown during growth and often during fruiting of first crop 

142. The shoots and roots of the plant show 
A) Negative and positive geotropism respectively 
B) Only negative geotropism 
C) Only positive geotropism 
D) Positive and negative geotropism respectively 

143. Bacteria asexually reproduce by 
A) Amitosis     B) Meiosis 
C) Conjugation    D) Transformation 

144. Retina is most sensitive at 
A) Optic disc    B) Periphery 
C) Macula lutea   D) Fovea centralis 

145. Astigmatism can be corrected by wearing 
A) Concave lens   B) Convex lens 
C) Spherical cylindrical lens  D) Without any lens 

146. When the egg does not get fertilized, which hormone is produced by ruptured follicle? 
A) LH     B) FSH 
C) Progesterone   D) Thyroxine 

147. Pollination by insects is known as 
A) Entomophily   B) Anemophily 
C) Chiropterophily   D) Ornithophily 

148. Vitellogenesis is the process of formation of  
A) Vitelline membrane around the developing egg cell 
B) Yolk cell membrane around the yolk mass during development of reptiles and birds 
C) Yolk and its deposition within the growing oocyte of amphibians 
D) Archenteron around egg cell 

149. During which epoch of Cenozoic era, there was extinction of large mammals? 
A) Oligocene    B) Pliocene 
C) Holocene    D) Pleistocene 

150. Fossils are found in 
A) Rocks    B) Amber 
C) Asphalt    D) All of these media 

151.  Vascular bundles in a dicot stem are 
A) Open, collateral and endarch B) Closed, collateral and endarch 
C) Closed, collateral and exarch D) Open, collateral and exarch 
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152. Hard, lignified, thick walled, long and pointed cells in a plant are 
A) Parenchyma   B) Sclerenchyma 
C) Collenchyma   D) Sclerids 

153. The layer of actively dividing cells of skin is termed as 
A) Stratum compactum  B) Stratum corneum 
C) Stratum lucidium   D) Stratum germinativum 

154. Alternative forms of a gene are called 
A) Loci     B) Multiples 
C) Chromosomes   D) Alleles 

155. What will be the genotypic ratio of the cross between Rr X rr? 
A) 1:2:1    B) 3:1 
C) 1:1     D) 1:1:1 

156. Which of the following does not occur within mitochondria? 
A) Krebs cycle    B) Glycolysis 
C) ECT    D) ATP Synthesis 

157. Cell wall of the plant cell contain pit fields known as 
A) Mitochondria   B) Golgi bodies 
C) Plasma membrane   D) Plasmodesmata 

158. Which phylum does not have a true coelom? 
A) Arthropoda    B) Echinodermata 
C) Porifera    D) Annelida 

159. Which one of the following kind of animals is triploblastic? 
A) Corals    B) Flatworms 
C) Sponges    D) Ctenophores 

160. Phylogenetic system of classification is based on  
A) Floral characters   B) Evolutionary relationship 
C) Morphological features  D) Chemical constituents 

161. Mycorrhiza is correctly described as  
A) Parasitic association between roots and some fungi 
B) Relation of ants with the stem of some trees 
C) Symbiosis of algae and fungi 
D) Symbiotic relationship between fungi and roots of some higher plants 

162. Common cold is not cured by antibiotics because it is  
A) Caused by a Gram negative bacterium 
B) Not an infectious disease 
C) Caused by a virus 
D) Caused by a Gram positive bacterium 

163. Prions affect which tissue in the body? 
A) Endocrine    B) Cardiac 
C) Connective    D) Nervous 
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164.  Gas leaked in Bhopal tragedy was 
A) Methyl isocyanate   B) Potassium isothiocyanate 
C) Sodium isothiocyanate  D) Ethyl isothiocyanate 

165. Tuberculosis is caused by 
A) Mycobacterium   B) Vibrio 
C) Clostridium    D) Nitrobacter 

166. HIV mainly affects 
A) Cell mediated T lymphocytes B) Helper T lymphocytes 
C) Natural Killer cells   D) Cytotoxic T lymphocytes 

167. Release of milk and contraction of uterus are caused by 
A) Prolactin    B) Oxytocin 
C) Progesterone   D) Estrogen 

168. Which of the following are analogous organs? 
A) Eye of cephalopods and vertebrates 
B) Flippers of seal and wings of pigeon 
C) Tendril of Passiflora and thorn of Bougainivillea 
D) Legs of grasshopper and honey bee 

169. Which of the following is an apocrine gland? 
A) Mammary gland   B) Thyroid 
C) Thymus    D) Hypothalamus 

170. The development of fruit without fertilization is 
A) Parthenogenesis   B) Parthenocarpy 
C) Apomixes    D) Apogamy 

171. Ranikhet attacks the 
A) Pigs and poultry   B) Poultry and honey bee 
C) Silkworm and camels  D) Poultry only 

172. Knee or elbow joint is 
A) Pivot    B) Condyloid 
C) Gliding    D) Hinge 

173. The product of conjugation in Spirogyra is  
A) Akinete    B) Zygospore 
C) Chlamydospore   D) Zoospore 

174. Thylakoids occur inside 
A) Endoplasmic Reticulum  B) Golgi Complex 
C) Chloroplast    D) Mitochondria and chloroplast 

175. Which state consists of super energetic and super excited particles?  
A) Liquid     B) Gas  
C) Plasma     D) Bose-Einstein Condensate  
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176. According to Henry’s law  
A) doubling the partial pressure doubles the solubility 
B) doubling the partial pressure triples the solubility 
C) doubling the partial pressure decreases the solubility 
D) doubling the partial pressure does not affect the solubility 

177. The protecting power of lyophilic colloidal sol is expressed in terms of 
A) Critical miscelle concentration B) Oxidation number 
C) Coagulation value   D) Gold number 

178. Atoms having same number of neutrons but different mass number are called  
A) isotopes     B) isobars   
C) isotones    D) isotherms  

179.  Which of the following has largest negative electron affinity? 
A) F     B) Cl 
C) Br     D) I 

180. The family of elements with the highest ionisation enthalpy: 
A) Alkali metals   B) Alkaline earth metals 
C) Halogens    D) Noble gases    

181.  Which of the following has coordination bond? 
A) N2   B) CaCl2  C) O3   D) H2O 

182. What will be the pH at 25oC containing 0.10 M CH3COONa and 0.03 M CH3COOH. pKa for 
CH3COOH = 4.57. 
A) 4.87   B) 3.33  C) 5.09  D) 4.05 

183. The function of alum used for the purification of water is to  
A) coagulate the sol particles    B) disperse the sol particles 
C) emulsify the sol particles   D) absorb the sol particles 

184. Which one of the following is metal? 
A)  C   B) N   C) Na   D) O 

185. Which non-metal is found in liquid state at room temperature? 
A) Mercury  B) Zinc  C) Iodine   D) Bromine 

186.  Oxides of non metals are _______ in nature. 
A)  Basic  B)  Acidic  C) Neutral  D)  Amphoteric  

187. Which gas is produced when metal react with acids ? 
A) Oxygen  B) Nitrogen  C) Hydrogen  D) Carbon dioxide 

188. Which of the following can be shown to be both a Bronsted acid and a Bronsted base?  
A) O-2   B) HSO4

-1  C) PO4
-3  D)  CN-1 

189. An example of an emulsifying agent would be _________. 
A) Oil    B) Soap  C) Water  D) Salt 

190. Which is not an organic compound ? 
A) methanol  B) acetonitrile  C) sodium cyanide D) phenol 
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191. In benzene, each carbon atoms undergoes 
  A) sp   B) sp2   C) sp3   D) sp2 and sp3 hybridisation 
192. The shortest C-C bond distance is found in: 

A) ethane  B) ethene  C) ethyne  D) diamond 
193. Propene reacts with HBr in presence of organic peroxide to form: 
 A) 1-Bromopropane B) 2-Bromopropane C) 3-Bromopropane D) 2-Bromopropene       
194. The strongest acid among the following is: 
 A) C2H6   B) C3H8  C) C2H4  D) C2H2 

195. The compound formed as a result of oxidation of ethyl benzene by KMnO4 is 
 A) Benzoic acid  B) Acetophenone C) Benzophenone D) Benzyl alcohol 
196. Which acid is used in the manufacture of synthetic rubber? 
 A) Acetic acid  B) Formic acid C) Carbonic acid D) Benzoic acid 
197.  Not a characteristic property of ceramic material  

A) high temperature stability    B) high mechanical strength  
  C) low elongation    D) low hardness 
198. Increasing concentration of CO2 in atmosphere is responsible for: 
 A) acid rain     B) greenhouse effect 
 C) lack of photosynthesis    D) death of aquatic life 
199. The coating on modern non- stick cookware and electric iron is of 

A) Terrycot   B) Rayon  C) Polyester  D) Teflon 
200. For corrosion of iron to take place  

A) Presence of moisture is sufficient  B) Presence of moisture and oxygen is essential 
C) Hydrogen is required   D) A strong acid is necessary 

 
Section – C (Subject Knowledge) 

121- fyax fu/kZj.k ds fy, xq.klw=k izfØ;k dkSu&lh gS %  
A)  thou laca/h larqyu izfØ;k    B)  vxqf.kr f}xqf.kr izfØ;k  

 C)  mikip; izfØ;k     D)  ,d thu izfØ;k 
122- yEcs le;&vof/ ds fy, fdl lgk;d iztud VsDuksykWth dk iz;ksx fd;k tkrk gS % 
 A)  varjk&dksf'kdk nzO; 'kqØk.kq Vhdk   B)  df̀=ke oh;Zjksi.k 

C)  ufgizkZ.kh fu"kspu     D)  ;qXed varjk&fMEc okfguh uyh ls varj.k 
123- fuf"Ø; {kksedksa lfgr y;u d;ksa dks dgrss gSa %  
 A)  Lo&Hk{kd  B)  vo'ks"kh dk;   C)  xkS.k y;u dk; D)  izkFkfed y;u dk; 
124- fdu voLFkkvksa ds v/hu izLosnu d"kZ.k vf/dre gksxk %   
 A)  [kqys ja/z] mPp vknzZ ok;qe.My vkSj lqflafpr feV~Vh    

B)  [kqys ja/z] mPp vknzZ ok;qe.My vkSj 'kq"d feV~Vh      
C)  [kqys ja/z] 'kq"d ok;qe.My vkSj ue feV~Vh 
D)  cUn ja/z] fuEu gydh rhozrk vkSj vknzZ ok;qe.My 

125- ;dr̀ fuokfgdk ra=k dgka ls vkjaHk gksrk gS %  
 A)  ikpu ra=k ls ftxj B)  xqjns ls ftxj   C)  ftxj ls ân; D)  ftxj ls xqjnk 
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126- boku iSoykso us fdu ij iz;ksx fd, %  
 A)  ljy izfrorZ      B)  vuqdwfyr izfrorZ      

C)  ân; izfrorZ      D)  thou dk ewy 
127- xzhugkml izHkko fdlds }kjk gksrk gS %  
 A)  gjs ikS/s  B)  vojDr fdj.ksa  C)  UV fdj.ksa  D)  X-fdj.ksa 
128- Lora=k lizk.k ukbVªkstu LFkkbZdj thok.kq gSa %  
 A)  ukbVªkslkseksuk      B)  DykWfLVªfM;e    
 C)  jkbt+ksil      D)  ,sukchuk 
129- lqiks"khdj.k _____ esa ikuh dh vf/drk ls gksrk gS %  
 A)  iks"kd  B)  Hkkjh /krq,¡   C)  dhVuk'kd  D)  lw{ekaxh 
130- ikS/ksa esa fo|eku QksVks&la'ys'.kkRed jatd gSa A 
 A)  DyksjksfQy a vkSj b     B)  DyksjksfQy a vkSj c    
 C)  DyksjksfQy a      D)  DyksjksfQy b 
131- ok;qthoh vafx;ksa esa] Xywdkst+ vafre mRikn ds :i esa ____  esa cny tkrk gS %  
 A)  ysfDVd vEy B)  Co2    C)  O2   D)  bZFkkuksy 
132- vko`rohft;ksa esa nksgjs fu"kspu dh Hkwfedk _____ dk mRiknu djuk gS %  
 A)  vè;koj.k   B)  vUr%iks"kh   C)  var% QyfefÙk D)  xzkgd xqPN 
133- ân; esa izkdf̀rd xfrpkyd gS %  
 A)  SA fuLian  B)  ijfdUth rarq   C)  dkWjMs VsfUMus  D)  feVªy dikV 
134- ekuof'kEcksa esa mRltZu vax gSa %  
 A)  òDdkad      B)  Tokyk dksf'kdk,¡      

C)  uyikn      D)  ekYihft;u ufydk;sa 
135- ekuo 'kjhj esa fnekx+ dk dkSu&lk Hkkx rkieku dks fu;af=kr djrk gaS %  
 A)  vuqefLr"d  B)  e?;ka'k    C)  v/'psrd  D)  psrd 
136- ,fMlu&jksx dk dkj.k gkeksZu dh deh gS tks _____ }kjk fu;af=kr gksrk gaS % 
 A)  ih;w"k xzfUFk      B)  vf/oD̀d oYdqV      

C)  voVq xzfUFk      D)  Fkkbel xzfUFk 
137- xkS.k iznw"kd dkSu&lk gS %  
 A)  ok;qfoy;  B)  CO    C)  PAN  D)  SO2 
138- i`Foh ds ok;qe.My dh ijr tgk¡ ckny gksrs gSa] og gSa %  
 A)  gVªsVksfLQ;j      B)  VªksiksfLQ;j      

C)  FkeksZfLQ;j      D)  eslksfLQ;j 
139- oxZladj of¼Z".kqrk fdl ds dkj.k gS %  
 A)  'kq¼ Loy{k.kksa dh le;qXetrk     

B)  lHkh thuksa dh mRd̀"Vrk 
C)  fo"ke;qXetrk       
D)  uj ds dksf'kdknzO; dk eknk ds dksf'kdknzO; ls feJ.k 
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140- leku mitkfr }kjk nks ikS|ksa esa ladjksa dks dgrs gSa %  
 A)  var% mitkrh;     B)  varj&mitkrh;    
 C)  vUrjktkrh;      D)  varjthuh 
141- fjys varjky lL; mxkus dh O;k[;k dkSu&lk djrk gS % 
 A)  miyC/ Lisl esa vaxHkwr Qlyksa dks iwjh rjg fefJr fd;k tkrk gS     

B)  vaxHkwr Qlyksa dks ,dkUrj drkjksa esa O;ofLFkr fd;k tkrk gS       
C)  rst+ c<+us okyh Qlyksa dks /hesa c<+us okyh Qlyksa ds lkFk chtk tkrk gS  
D)  nwljh Qly dks igyh Qly dh of̀¼ ds nkSjku vkSj vDlj Qyu ds ckn cks;k tkrk gS 

142- ikS/ks dh Vgfu;k¡ vkSj tM+s n'kkZrh gSa % 
A)  Øe'k% udkjkRed vkSj ldkjkRed xq:Roof̀Ùk      
B)  dsoy udkjkRed xq:Roo`fÙk 
C)  dsoy ldkjkRed vkSj udkjkRed xq:Roof̀Ùk 
D)  Øe'k% ldkjkRed vkSj udkjkRed xq:Roof̀Ùk 

143- thok.kqvksa dk vfyaxh rkSj ij fdl }kjk iztuu gksrk gS % 
 A)  vlw=kh foHkktu     B)  v/Zlw=kh dksf'kdk foHkktu    
 C)  la;qXeu      D)  :ikarj.k 
144- nf̀"ViVy dgk¡ ij vR;f/d vfrlaosnh gksrk gS %  
 A)  n`f"V fcEc      B)  ifjf/    

C)  esD;qyk Y;qfV;k     D)  Qksfo;k lsUVªsfyl 
145- ysUl dh vfcUnqdrk dks ______ ds iguus ls lgh fd;k tk ldrk gS %  
 A)  vory ysUl      B)  mÙky ysUl      

C)  xksy csyukdkj ysUl     D)  fcuk fdlh ysUl ds  
146- tc vaMk fu"kSfpr ugha gksrk] rks ,d QVs dwi }kjk fdl gkeksZu dh mRifÙk gksrh gS %  
 A)  LH   B)  FSH    C)  izksxsLVsjkWu  D)  Fkk;jkWfDlu 
147- dhVksa }kjk ijkx.k dks dgrs gSa %  
 A)  ,UVkWekWfQfy      B)  ok;q ijkx.k 
 C)  dk;jksIVsjksfQfy     D)  i{kh ijkx.k 
148- ihudtud fdl dks cukus dh izfØ;k gS % 
 A)  fodflr gks jgs vaM dksf'kdk ds bnZ&fxnZ ihrd f>Yyh  

B)  jasxus okys izkf.k;ksa vkSj if{k;ksa ds fodkl esa ihyd&fi.M ds bnZ&fxnZ ihrd dksf'kdk f>Yyh 
C)  mHk;pjksa ds c<+ jgs vaMd ds Hkhrj ihrd vkSj bldk fu{ksi    
D)  vaM dksf'kdk ds bnZ&fxnZ iqjkU=k 

149- uwru tho egkdYi ds fdl ;qx esa] fo'kky Lru/kfj;ksa dk foyksiu gqvk Fkk %  
 A)  vYiuwru ;qx     B)  vfruwru ;qx    

C)  U;wure ;qx      D)  vR;ar uwru ;qx 
150- thok'e fdl esa feyrs gSa %  
 A)  pV~Vkusa  B)  r̀.kef.k   C)  Mkej   D)  bu lHkh e?;eksa esa 
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151- f}chti=kh rus esa laoguh iwy gaS %  

 A)  [kqys] cfg%iks"kokgh vkSj ,UMkdZ    

B)  can] cfg%iks"kokgh vkSj ,UMkdZ  

C)  can] cfg%iks"kokgh vkSj ,DlkdZ 

D)  [kqys] cfg%iks"kokgh vkSj ,DlkdZ 

152- ikS/s esa dBksj] dkf"Br] eksVh fHkfÙk&;qDr] yaEcs vkSj uqdhyh dksf'kdk,¡ gSa %  

 A)  ènwrd  B)  n`<+ksrd    C)  LFkwydks.k Ård  D)  n`<+dksf'kdk 

153- Ropk dks lfØ;rk ls foHkktu dj jgh dksf'kdkvksa dh ijr dks dgk tkrk gS %  

 A)  dEisDVe Lrj     B)  fd.k Lrj      

C)  Y;qflfM;e Lrj     D)  tfeZysfVoe Lrj 

154- thu ds ,dkUrj :iksa dks dgrs gSa %  

 A)  foLFky      B)  cgqfo/      

C)  xq.klw=k      D)  ;qXefodYih 

155- Rr xrr  ds njfe;ku ØkWl dk thu izk:fid vuqikr D;k gksxk %  
 A)  1 : 2 : 1      B)  3 : 1      

C)  1 : 1      D)  1: 1 : 1 
156- d.kkaxksa ds Hkhrj D;k ?kfVr ugha gksrk gS %  

 A)  Øsu pØ      B)  XykbdkWyka'ku    

 C)  ECT      D)  ATP la'ys"k.k 

157- ikS/ dksf'kdk dh dksf'kdk fHkfÙk esa xrZ {ks=k gksrs gSa] ftUgsa dgrs gSa %  

 A)  d.kkax  B)  xkWYxh dk;   C)  thonzO;dyk  D)  thonzO; rUrq 

158- fdl tkfr esa lgh nsgxqgk ugha gksrh %  

 A)  lfU/ikn      B)  ty vd'ks:dh    

 C)  Liath ty vd'ks:dh     D)  l[k.M df̀e 

159- i'kqvksa dk dkSu&lk izdkj f=ktuu Lrjh gSa %  

 A)  izoky      B)  piVh nsg ;qDr df̀e    

 C)  LikfUtt+      D)  VksuksQksj 

160- oxhZdj.k dh tkfr fodkl i¼fr fdl ij vk/kfjr gS %  

 A)  iq"ih fo'ks"krk,a      B)  fodklkRed laca/   

C)  vkdf̀rewyd y{k.k     D)  jklk;fud ?kVd 

161- dod dewy dk lgh rjg o.kZu dSls fd;k tkrk gS %  

 A)  tM+ksa vkSj dqN dodksa ds njfe;ku ijthoh lkgp;Z     

B)  phafV;ksa dk dqN o`{kksa ds ruksa ls laca/       

C)  'kSoky vkSj dod dk lgthou    

D)  dod vkSj dqN mPprj ikS/ksa dh tM+ksa esa lgthou laca/ 
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162- lk/kj.k lnhZ&t+qdke dk bykt izfrthok.kqoksa ls ugha gksrk D;ksafd %  

 A)  ;g xzSe udkjkRed thok.kq ls gksrk gS    

B)  ;g laØked jksx ugha gS      

C)  ;g fo"kk.kq ls gksrk gS    

D)  ;g xzSe ldkjkRed thok.kq ls gksrk gS  
163- izhvkWu 'kjhj esa fdl Ård dks izHkkfor djrs gSa %  
 A)  var%Ïkoh Ård     B)  ân; Ård      

C)  la;ksth mrd      D)  raf=kdk Ård 
164- Hkksiky dh nq%[kn ?kVuk esa yhd gqbZ xSl Fkh %  
 A)  ehFkkbZy vkblkslk;kusV 

B)  iksVkf'k;e vkblksFkk;kslk;kusV  
C)  lksfM;e vkblksFkk;kslk;kusV 
D)  bFkkbZy vkblksFkk;kslk;kusV 

165- risfnd fdlds }kjk gksrh gS %  
 A)  dod thok.kq     B)  dEiu tho.kq    
 C)  vok;qthoh thok.kq     D)  ukbVªkscsDVj 
166- HIV eq[;r% fdldks izHkkfor djrk gS %  
 A)  dksf'kdk e?;Lrh izfrjks/u T yfldk.kq    

B)  lgk;d T yfldk.kq 
C)  izkdf̀rd ?kkrd dksf'kdk,¡ 
D)  dksf'kdk fo"kkDr T yfldk.kq 

167- nw/ ds fudyus vkSj xHkkZ'k; ds fldqM+us dk dkj.k gS %  
 A)  izkSySfDVu      B)  vkWfDlVksflu    
 C)  izksxsLVªkWu      D)  bLVªkstu 
168- dkSu&ls leo`fÙk vax gSa %  
 A)  'kh"kZiknksa vkSj vd'ks:dh; izkf.k;ksa dh vk¡[k    

B)  lhy eNyh ds i{k vkSj dcwrj ds ia[k      
C)  iSflÝyksjk ds izrku vkSj cwxufoyk dk dk¡Vk   
D)  fVM~Ms vkSj e/q eD[kh dh Vk¡xsa 

169- viL=koh xzUFkh dkSu&lh gS %  
 A)  Lruh; xzfUFk      B)  voVqxzfUFk 
  C)  ckY; xzfUFk      D)  v/%psrd xzfUFk 
170- fu"kspu ds cxSj Qy dk fodkl gS %  
 A)  vfu"ksd tuu     B)  vfu"ksd QynÙkk    
 C)  vlaxtuu      D)  vi;qXeu 
171- jkfu[ksr fdl ij vkØe.k djrk gS %  
 A)  lwj vkSj ewjxsa      B)  eqjxas vkSj e/qeD[kh    
 C)  js'ke dk dhM+k vkSj ÅWV    D)  dsoy eqjxsa 
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172- ?kqVus vFkok dksguh dk tksM+ gS %  
 A)  /qjh lfU/k      B)  LFkwyd lfU/    
 C)  fuliZd lfU/     D)  dksj&lfU/ 
173- rUrqe; gfjr 'kSoky esa la;qXeu dk mRikn gS %  
 A)  fuf"Ø;rk      B)  ;qXek.kq 
  C)  fHkfÙkd Liksj      D)  pychtk.kq 
174- FkkbykdkWbMt+ fdlds Hkhrj gksrs gSa %  
 A)  vUrnZzO;h; tkfydk     B)  xkWYth lef"V    
 C)  gfjr yod      D)  d.kkax vkSj gfjr yod 
175- fdl fLFkfr esa vfr&ÅtZLoh vkSj vfr&mÙkstd d.k lfEefyr gksrs gSa% 
 A) rjy  B)  xSl  C)  Iykfodk  D)  cksl&vkbULVkbZu la?kuu 
176- gsuzh ds fu;e ds vuqlkj % 
 A)  vkaf'kd ncko dk f}xq.ku foys;rk dks nqxquk djrk gS   

B)  vkaf'kd ncko dk f}xq.ku foys;rk dks frxquk djrk gS   
C)  vkaf'kd ncko dk f}xq.ku foys;rk dks de djrk gS  
D)  vkaf'kd ncko dk f}xq.ku foys;rk dks izHkkfor ugha djrk  

177- nzOkfiz; dksykbM foy; dh laj{kd 'kfDr dks fdl ds :Ik esa O;Dr fd;k tkrk gS% 
 A)  Økafrd felhy ldsUnz.k  B)  vkDlhdj.k la[;k  C)  teko ewY;  D)  Lo.kZ la[;k 
178- ftu ijek.kqvksa dh U;qVªkWu  dh leku la[;k ijUrq fHkUu nzO;eku la[;k gksrh gS] mu dks dgrs gSa% 
 A)  leLFkkfud  B)  leHkkfjd      C)  le&U;qVªkWfud  D)  lerkid 
179- lc ls vf/d Í.kkRed bysDVªkWu lkE; fdldk gS% 
 A)  F   B)  C1    C) Br    D) I  
180- mPpre vk;uu iw.kZ&Å"ek dk rRo&ifjokj gS% 
 A) {kkj /krq,¡  B)  {kkjh; i`Foh /krq,¡  C)  gSykstu   D)  mRd`"V xSlsa    
181- leUo;u ca/ fdl dk gS% 
 A)  N2   B)  CaCl2   C) O3    D)  H2O 
182- 250C ij] ftl esa 0.10M CH3COONa vkSj 0.03 M CH3COOH  lfEefyr gSa] pH D;k gksxk A              

pKa  ds fy, CH3COOH=4.57     
 A)  4.87  B) 3.33   C)  5.09  D)  4.05 
183- ikuh ds 'kqf¼dj.k ds fy, iz;qDr fQVdjh dk dk;Z gS%   
 A)  foy; ds d.kksa dks tekrh gSa     B)  foy; ds d.kksa dks ifjf{kIr djrh gS    

C)  foy; ds d.kksa dk ik;lhdj.k djrh gS  D)  foy; ds d.kksa dks vo'kksf"kr djrh gS  
184- /krq dkSu&lh gS% 
 A)  C   B) N    C) Na    D)  O 
185- fdl v&/krq dks dejs ds rkieku ij rjy voLFkk esa ik;k tkrk gS% 
 A)  ikjk   B)  tLr  C)  vk;ksMhu  D)  czksehu 
186- v&/krqvksa ds vkWDlkbMt+ _________ izdf̀r ds gSa% 
 A)  {kkjh;  B)  vEyh;  C)  mnklhu  D)  mHk;/ehZ 
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187- tc /krq dh vEy ls izfrfØ;k gksrh gS] dkSu&lh xSl iSnk gksrh gS% 
 A)  vkWDlhtu   B)  ukbVªkstu  C)  gkbMªkstu D)  dkcZu MkbvkWDlkbM 
188- fdl dks czkULVsM vEy vkSj czkULVsM {kkj o nksukas ds :Ik eas n'kkZ;k tk ldrk gS% 
 A)  O-2   B)  HSO4

-1  C)  PO4
-3  D)  CN-1 

189- ik;lhdkjd ,taV dk mnkgj.k gksxk% 
 A)  rsy   B)  lkcqu  C)  ikuh   D)  yo.k 
190- dkCkZfud ;kSfxd dkSu&lk ugha gS% 
 A)  esFkkuksy  B)  ,flVksukbVªkby C)  lksfM;e lk;kukbM D)  Qhuksy 
191- csUt+hu esa] izR;sd dkcZu ijek.kq lgu djrk gS% 
 A)  sp  B)  sp2    C)  sp3   D)  sp2  vkSj sp3 ladj.k 
192- y?kqre C-C ca/ nwjh fdl eas gS% 
 A)  bFksu B)  bFkhu   C)  bFkkbu  D)  ghjk   
193- dkcZfud iSjWkDlkbM dh mifLFkfr esa izksihu D;k cukus ds fy, HBr ls izfØ;k djrh gS% 
 A)  1&czkseksizksisu  B)  2&czkseksizksisu  C)  3&czkseksizksisu  D)  2&czkseksizksihu  
194- dkSu&lk vEy izcyre gS% 
 A)  C2H6  B)  C3H8  C)  C2H4  D)  C2H2 
195- KMnO4 }kjk bFkkby csUt+hu ds vkWDlhdj.k ds ifj.kkeLo:Ik cuk  ;kSfxd gS%  
 A)  csUt+kW;d  vEy B)  ,flVksfQuksu  C)  csUt+ksfQuksu  D)  csUt+kby vYdksgy   
196- dkSu&lk vEy fLkUFksfVd jcM+ dk fofuekZ.k gS% 
 A)  ,flfVd vEy B)  QkWfeZd vEy   C)  dkcksZfud vEy   D)  csUtkWbd vEy 
197- fljSfed inkFkZ dk fo'ks"k xq.k ugha gS% 
 A)  mPp rkieku fLFkjrk   B)  mPp ;kaf=kd cy   C)  fuEu nh?khZdj.k     D)  fuEu dBksjrk 
198- ok;qe.My esa CO2 dk c<+ jgk ldsanz.k fdl ds fy, ft+Eesnkj gS% 
 A) vEy o`f"V    B)  xzhugkml izHkko        C)  QksVksla'ys"k.k dk vHkko   D)  ty&thou dk var 
199- vk/qfud ukWu&fLVd dqdos;j vkSj fctyh&bLrjh ij ijr fdl dh gS% 
 A)  VsfjdkWV   B)  js;kWu  C)  ikWfyLVj  D)  VsÝykWu 
200- yksgs dk la{kkj.k gksus ds fy,% 
 A)  vknzZrk dh mifLFkfr  Ik;kZIr gS   B)  vknzZrk vkSj vkWDlhtu dh mifLFkfr vfuok;Z gS  

C)  gkbMªkstu  visf{kr gS     D)  izcy vEy vko';d gS 
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ROUGH WORK  



 

ZBG-21419-A 32 Contd. 
 

Instructions :  

1. Write your roll number on the Question Booklet and also on the OMR Answer Sheet only in the space 
provided  and nowhere else.   

2. Enter the Question Booklet Number and Series on the  OMR Answer Sheet by darkening the corresponding 
bubbles with Black/Blue Ball Point Pen only.  

3. To open the Question Booklet, remove the Staple Pin gently.  

4. Check that the Question Booklet contains 200  Objective Type questions with multiple choice answers.  In 
case of any discrepancy, inform the Invigilator within 10 minutes of the start of test. 

5. Each question has four alternative answers A, B, C & D, of which only one is correct. Darken only one 
bubble A, B, C or D, whichever you think is the correct answer, on the OMR Answer Sheet with 
BLACK/BLUE BALL POINT PEN only. 

6. All questions are of 1 mark each.  THERE IS NEGATIVE MARKING .  1/4 marks will be deducted for 
every wrong answer. 

7. Rough work is to be done on the question booklet only.  

8. Do not make any identification mark on the OMR Answer Sheet or Question Booklet.  

9. The  Answer Sheet is designed for computer evaluation. If the instructions are not followed properly, the 
candidate alone shall be responsible for the resultant loss so caused.  

10. After the test, hand over the Question Booklet and OMR Answer Sheet to the Invigilator on duty.  

11. Telecommunication equipments, such as calculators, pager, cellular phone, wireless & blue tooth devices 
etc. and weapons are not permitted inside the examination hall.  

12. Nothing is to be copied/noted from the given OMR Answer Sheet and Question Booklet, and be taken out 
of the Examination Hall. Any candidate found doing so would be expelled from the examination.  

13. A  candidate who creates disturbance of any kind or changes his/her seat, or is found in possession of any 
paper possibly of any assistance, or found giving or receiving assistance, or found using any other unfair 
means during the examination will be expelled from the examination. The decision of the Observer shall be 
final.  

14. The candidates will not be allowed to leave the Examination Hall before the expiry of time. 
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Key TGT (SCIENCE-14) 1.6.2014 

Q.No. Ans. Q.No. Ans. Q.No. Ans. Q.No. Ans. Q.No. Ans. 
1 D 41 D 81 C 121 C 161 D 
2 B 42 C 82 B 122 B 162 C 
3 C 43 C 83 A 123 D 163 D 
4 B 44 D 84 D 124 C 164 A 
5 C 45 A 85 C 125 A 165 A 
6 B 46 B 86 D 126 B 166 B 
7 D 47 C 87 D 127 B 167 B 
8 C 48 B 88 A 128 B 168 A 
9 B 49 A 89 C 129 A 169 A 

10 A 50 B 90 C 130 A 170 B 
11 C 51 C 91 C 131 B 171 D 
12 A 52 C 92 B 132 B 172 D 
13 A 53 B 93 C 133 A 173 B 
14 B 54 D 94 B 134 D 174 C 
15 B 55 D 95 C 135 C 175 C 
16 C 56 C 96 C 136 B 176 A 
17 A 57 B 97 B 137 C 177 D 
18 B 58 A 98 B 138 B 178 C 
19 C 59 B 99 B 139 C 179 B 
20 C 60 C 100 A 140 A 180 D 
21 A 61 B 101 A 141 D 181 C 
22 B 62 C 102 B 142 A 182 C 
23 C 63 B 103 C 143 A 183 A 
24 D 64 D 104 D 144 D 184 C 
25 A 65 D 105 A 145 C 185 D 
26 B 66 B 106 B 146 C 186 B 
27 C 67 B 107 C 147 A 187 C 
28 D 68 C 108 D 148 C 188 B 
29 A 69 A 109 A 149 D 189 B 
30 B 70 D 110 B 150 D 190 C 
31 C 71 C 111 C 151 A 191 B 
32 D 72 D 112 D 152 B 192 C 
33 A 73 B 113 A 153 D 193 A 
34 B 74 C 114 B 154 D 194 D 
35 C 75 D 115 C 155 C 195 A 
36 D 76 C 116 D 156 B 196 A 
37 A 77 D 117 A 157 D 197 D 
38 B 78 B 118 B 158 C 198 B 
39 C 79 C 119 C 159 B 199 D 
40 D 80 C 120 D 160 B 200 B 

 

 


